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200 Questions

Que. 1 Directions: Study the following information carefully and answer the questions given below:
Seven friends – B, C, D, F, G, H, and J have planned a solo trip but not necessarily in the same order, on

seven different months of the same year i.e. March, April, May, June, July, August and September. Each of them
goes from a different bike i.e. BMW, KTM, Pulsar, Hayabusa, Aprilia, CBR and Apache but not necessarily in
the same order.
B goes on the trip in a month which has less than 31 days. Only two friends go on the trip between B and D. The
one who goes from KTM has a trip immediately before G. Only one friend goes on a trip before the one who
goes from BMW. H goes on a trip immediately after the one who goes from BMW. Only three friends go on the
trip between H and the one who goes from CBR. G goes neither from CBR nor from BMW. F goes on the trip
immediately before G. J goes from Hayabusa. The one who goes from Pulsar has trip in the month, which has
less than 31 days. The one who has a trip in May does not go from Apache.

Who goes on the trip in April month?

Correct Option - 2

B1.
C2.
J3.
F4.
Either B or J5.

Que. 2 Who goes on a trip three months before the one who goes on a trip from KTM bike?

Correct Option - 3

J1.
B2.
C3.
H4.
None of the above5.

Que. 3 How many friends go between the one who goes from CBR and H?

Correct Option - 3

41.
22.
33.
none4.
55.

Que. 4 B goes on a trip from which bike?



Correct Option - 5

KTM1.
Apache2.
CBR3.
Pulsar4.
Can not determined5.

Que. 5 four of the five are alike in a certain way as per the given arrangement and thus form a group. Find the
one who does not belong to the group? 

Correct Option - 2

J1.
C2.
H3.
F4.
G5.

Que. 6 Directions: Study the given information and answer the questions that follow.
There are nine members in a family A, B, C, D, E, F, G, H, and I. There are 3 couples in this family. No

single parent has a child.
A has three children two of them are male. H is the daughter-in-law of A. I is the sister-in-law of H. D is niece of
I. B is brother-in-law of C who is unmarried. B has no sibling. D and G are from same generation. They are
neither siblings nor married. E is a female.

How G is related to B?

Correct Option - 5

Son1.
Brother2.
Sister3.
daughter4.
Cannot be determined5.

Que. 7 Who is the son of A?

Correct Option - 5

F1.
C2.
I3.
Either 1 or 24.
Both 1 and 25.



Que. 8 How C is related to D?

Correct Option - 1

Uncle1.
Aunt2.
Mother3.
Father4.
None of these5.

Que. 9 Direction: Study the following information carefully and answer the given questions.
Six persons P, Q, R, S, T, and U are living in a three-storey building such that ground floor is numbered as 1,
above it is floor 2 then top floor is numbered as 3. Each of the floor has 2 flats in it as flat-X and flat-Y. Flat-X of
floor-2 is immediately above flat-X of floor-1 and immediately below flat-X of floor-3. In the same way flat-Y of
floor-2 is immediately above flat-Y of floor-1 and immediately below flat-Y of floor-3. Flat-X is in west of flat-
Y. They all are from different cities.
The one who is from Kolkata lives immediately above U in the same flat. S lives to the west of U. P and the one
who is from Kolkata do not live on the same floor. Neither S nor Q is from Bangalore. U is either from Pune or
from Agra. There is one floor between Q and the one who is from Delhi who lives above Q. T does not live in
flat Y. The one who is from Mumbai lives on the same floor on which the one who is from Agra lives. P lives on
an odd numbered floor in flat X. 

Which of the following does not belong to the group?

Correct Option - 4

T1.
P2.
R3.
S4.
Q5.

Que. 10 Who among the following lives to the east of T?

Correct Option - 3

The one who is from Agra1.
U2.
R3.
The one who is from Pune4.
No one5.

Que. 11 Who lives on the bottom most floor?

The one who is from Pune1.
U2.
P3.
S4.



Correct Option - 5

Both 1 and 35.

Que. 12 Which of the following combination is the correct?

Correct Option - 4

T - Mumbai1.
Q - Delhi2.
Q - Banglore3.
S - Mumbai4.
R - Agra5.

Que. 13 Who among the following lives in Flat Y?

Correct Option - 4

P1.
T2.
S3.
Q4.
The one who lives in Delhi5.

Que. 14 Directions: Study  the following information carefully and answer the question given below:
In a grocery shop ten different boxes are stacked one above another and each box contains different

grocery items i.e. rice, oats, salt, wheat flour, jaggery, lentils, sugar, pasta, maida and almonds but not necessarily
in the same order. The box at the bottom is numbered one and so on.
Wheat flour is kept at even numbered position above position four. Number of boxes between wheat flour and
sugar is same as that of the almonds and jaggery. Pasta box is kept at position four. Rice is not kept at position
two. One box is kept between wheat flour and oats. Two boxes are kept between pasta and maida, and maida is
not kept at the position seven. Lentils is kept above rice. Lentils is not kept above oats. Jaggery is immediately
below pasta. Two boxes are between wheat flour and almonds. Sugar is kept below wheat flour.

How many boxes are there between Rice and Lentils boxes?

Correct Option - 4

21.
52.
33.
14.
none5.

Que. 15 Which of the following box is placed immediately below Oats?

Lentils1.



Correct Option - 1

Wheat flour2.
Maida3.
Pasta4.
Salt5.

Que. 16 _____ box placed three boxes away from Jaggery box.

Correct Option - 3

Salt1.
Oats2.
Sugar3.
Almonds4.
Rice5.

Que. 17 The box which is placed at position 7 contains which of the following grocery?

Correct Option - 5

Oats1.
Lentils2.
Pasta3.
Jaggery4.
None of the above5.

Que. 18 Four of the five are alike in a certain way as per a given arrangement and thus formed a group. Find the
one who does not belong to the group?

Correct Option - 4

Almonds1.
Lentils2.
Jaggery3.
Wheat flour4.
Rice5.

Que. 19 Direction: Study the following information carefully to answer the given questions.
In a certain code language,

“Blunt Force Trauma” is coded as “Boku Faki Kami”
“Black Force Energy” is coded as “Suzo Faki Kuro”
“Black Posh Box” is coded as “Bibi Poka Kuro”
“Black Is Blunt” is coded as “Kami Nova Kuro”
“Trauma Is Bad” is coded as “Piko Nova Boku”
What does the code 'Nova' mean?



Correct Option - 1

Is1.
Blunt2.
Black3.
Bad4.
Trauma5.

Que. 20 What is the code for Trauma?

Correct Option - 2

Kami1.
Boku2.
Nova3.
Piko4.
Kuro5.

Que. 21 What is the code for Box?

Correct Option - 5

Suzo1.
Bibi2.
Piko3.
Poka4.
Can not be determined5.

Que. 22 What does the code 'Piko' stand for?

Correct Option - 4

Energy1.
Posh2.
Blunt3.
Bad4.
Is5.

Que. 23 A girl walks 4 km towards the south. Then she turns towards the west and walks 13 km. After this, she
turns towards the south and walks 3 km. again she turns towards the West and walks 11 km. How far is

she from the starting point?

25 km1.
31 km2.
12 km3.
15 km4.



Correct Option - 1

30 km5.

Que. 24 Directions: Read the following information carefully and answer the questions.
Nine persons - E, F, G, H, I, J, K, L and M are working in a MNC company, but not necessarily in the

same order . All are posted on different designations namely Managing director (MD), Chief executive officer
(CEO), Chief operating officer (COO), Chief financial officer (CFO), Chief technological officer (CTO), Chief
marketing officer (CMO), Chief legal officer (CLO), Executive and Manager.  Managing director being the
senior most position and manager being the lowest position respectively. No person or designation other than the
one mentioned in the passage will be taken into consideration. 
G who is not at the senior most nor at the junior most position has his designation higher than CFO. K who is
working as an executive is exactly between I and H. Three designations are there between CEO and E. Three
designations are there between F and the one who is CTO. The person who is CEO is three posts above M. I is at
one of the positions senior to H. L is not CEO of the company and neither immediately junior to him. J is senior
to the one who is designated as COO.  

How many persons are designated between the one who is Chief technological officer CTO and H?

Correct Option - 3

Two1.
Four2.
Three3.
Five4.
One5.

Que. 25 The position of how many people will remain unchanged if all are made to sit in an alphabetical order
starting from MD?

Correct Option - 1

One1.
None2.
Two3.
Three4.
Four5.

Que. 26 If we interchange the position of the one who is Chief operating officer (COO) and Chief legal officer
(CLO) . Then how many persons are there between L and G

Correct Option - 3

Zero1.
Three2.
Two3.
Four 4.
One5.



Que. 27 Who among the following is the immediate senior to the one who is four positions senior to H?

Correct Option - 1

L1.
J2.
M3.
G4.
Both L and J5.

Que. 28 Who sits exactly between the one who is Manager and G?

Correct Option - 5

M1.
I2.
CFO3.
CLO4.
E5.

Que. 29 Direction: In the question below are given three statements followed by two conclusions numbered
I and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All Apple are Kiwi.
Some Kiwi are not Banana
Some Banana are Papaya.
Conclusions:
I. Some Papaya can be Apple.
II. Some Kiwi are not Papaya.

Correct Option - 1

Only I follows1.
Only II follows2.
Either I or II follows3.
Both I and II follow4.
Neither I nor II follows5.

Que. 30 Direction: In the question below are given three statements followed by two conclusions numbered
I and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:



All Duster are Chalk.
Only a few Chalk are Table.
Some Chair are Duster.
Conclusions:
I. Some Duster are Table.
II. All Table can be Chalk.

Correct Option - 1

Only II follows1.
Only I follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 31 Direction: In the question below are given three statements followed by two conclusions numbered
I and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All right are wrong.
Some wrong are bad.
Only a few good are right.
Conclusions:
I. No right is bad.
II. Some good can be wrong.

Correct Option - 4

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 32 Direction: In the question below are given three statements followed by three conclusions numbered I,
II and III. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
All Gold is Silver.
Only a few Silver is Diamond.
No Diamond is Platinum.
Conclusions:
I. Some Gold can be Diamonds.



II. All Diamonds are Silver.
III. Some Platinum can never be Silver.

Correct Option - 1

Only I follows1.
Only II follows2.
Both I and II follow3.
All follow4.
Both I and III follow5.

Que. 33 Directions:- Study the following information carefully and answer the Questions based on it:
There are eight persons - A, B, C, D, E, F, G, and H - sitting around a circular table, not necessarily in

the same order. Four of them are facing inward, while the other four are facing outward. No two persons sitting
adjacent to each other are facing the same direction (i.e., if one person is facing inside, the person sitting next to
them will be facing outside, and vice versa). B sits third to the right of A and is facing outside. Three people are
sitting between B and C. D sits second to the right of B. E sits third to the left of D. H is sitting exactly opposite
to G, who is not the immediate neighbor of either F or C. F is not facing inside.

Who is sitting to the immediate right of G?

Correct Option - 2

D1.
B2.
A3.
C4.
H5.

Que. 34 How many people are sitting between E and G counting from right of G?

Correct Option - 3

Zero 1.
Two2.
One 3.
Five 4.
Six 5.

Que. 35 Which of the following statement is Correct?

G and F faces in same direction1.
D and H faces in opposite direction 2.
E and B faces in same direction 3.
D and F faces in opposite direction4.
None of the given statement is Correct5.



Correct Option - 2

Que. 36 Who is sitting third to the right of C?

Correct Option - 1

E1.
F2.
H3.
G4.
D5.

Que. 37 If you arrange the persons in alphabetical order starting from A in clockwise direction, who will be
sitting fifth to the right of B?

Correct Option - 3

D1.
C2.
G3.
H4.
A5.

Que. 38 If all the vowels are replaced by immediate next letter and all the consonants are replaced by
immediate previous letters of the word "BACKSPACE" and then the letters are arranged in

alphabetical order from left to right, then which of the following letter will be fourth from the right end?

Correct Option - 2

B1.
F2.
J3.
A4.
R5.

Que. 39 If it is possible to make only one meaningful 3-letter English word with the 4th, 6th and 9th letters of
the word 'DISTINGUISH', which of the following will be the first letter from the left end of that word?

If no such word can be made give 'Y' as the answer and if more than one such word can be made give 'X' as the
answer.

Correct Option - 2

N1.
X2.
Y3.
T4.
I5.



Que. 40 Directions: Study the following information and answer the given questions.
An uncertain number of person are standing in a row facing south. Anurag stands at one of the end of a

row. As many person standing between Amit and Sanket as between Sagar and Amit. Eight person standing
between Sagar and Bhanu. Only one person stands between Anurag and Sagar. Bhanu is standing third from one
of the end of the row. Akash is sitting fifth to the right of Amit. More than six person standing between Anurag
and Sanket. Not more than five person are standing between Bhanu and Akash.

What is the position of a Amit with respect to Sagar?

Correct Option - 4

Third to the left1.
Immediate left2.
Immediate right3.
Third to the right4.
Second to the right5.

Que. 41 Directions: The following table shows the total numbers of tickets (Business + Economy) booked , 
Percentage of Economy tickets booked and number of female economy tickets booked in three 

different air lines A, B and C.
 

Name of airlines Total number of 
tickets booked 

(Business + 
Economy)

Percentage of 
Economy tickets 

booked 

Number of 
female Economy 

tickets

A 480 33(1/3)% 50

B 600 75% 120

C 800 62.5% 100

 Find the ratio between the number of economy tickets booked in A and C to the number of business tickets
booked in B and C.

Correct Option - 3

23: 121.
25: 142.
22: 153.
23: 144.
21:135.

Que. 42 Number of tickets booked in airline A is 60% of the total tickets and remaining tickets are left vacant.
If the number of vacant business tickets is 120 then find the number of vacant economy tickets in

airline A.



Correct Option - 4

2401.
1202.
1803.
2004.
2205.

Que. 43  If the ticket rates for the airlines A economy and business are Rs. 500 and Rs. 1000 respectively. Find
the total revenue generated by booking all the given tickets.

Correct Option - 3

Rs. 1380001.
Rs. 5460002.
Rs. 4000003.
Rs. 3240004.
Rs. 2450005.

Que. 44 Number of tickets booked by airline D is 25% more than the number of tickets booked by airline C and
the number of economy tickets booked by airline D is 60% of the total tickets booked. Find the

difference between the number of business tickets booked by company D and company B.

Correct Option - 3

1801.
1502.
2503.
1404.
1605.

Que. 45 If the number of business tickets booked by male in airline A and airline B is 100 and 50 respectively.
Find the difference between the total number of tickets booked by the females in airline A and airline

B.

Correct Option - 2

801.
502.
1203.
604.
405.

Que. 46 Find the missing term in the given series.
0, ?, 91, 216, 432, 775

301.



Correct Option - 2

272.
283.
364.
None of these5.

Que. 47 Find the missing term in the given series.
85, 115, 75, 125, 65, 135, ?

Correct Option - 3

901.
752.
553.
1154.
None of these5.

Que. 48 Find the missing term in the given series.
734, 613, 469, 300, 104, ?

Correct Option - 1

-1211.
-1232.
-2233.
-1874.
None of these5.

Que. 49 Find the missing term in the given series.
?, 280 , 1680 , 8400 , 33600, 100800

Correct Option - 2

751.
402.
703.
604.
None of these5.

Que. 50 What should come in place of the question mark (?) in the following number series?
51, 106, 183, 282, 403, (?)

5461.
5282.
5253.



Correct Option - 1

5274.
None of these5.

Que. 51 The following caselet shows the number of hatchback cars and number of sedan cars sold by the three
different manufacturers G, H, and K.

Total number of hatchback cars sold by G is 33.33% of the total number of sedan cars sold by H. Total hatchback
cars sold by H is 62 more than total sedan cars sold by H. The ratio of total hatchback cars sold by H to K is 2: 1
and the total number of hatchback cars sold by all the three manufacturers is 247. The total number of sedan cars
sold by all the three manufacturers is 231.
If the ratio between the number of sedan cars sold by G to K are in the ratio 2: 1 and. Find the difference between
the 50% of the sedan cars sold by G and the 1/7 th of the sedan cars sold by K.

Correct Option - 3

461.
382.
423.
544.
325.

Que. 52 If the average number of hatchback cars sold by E and G together is 35 and total number of cars
(hatchback and sedan) cars sold by E is 80, then find the total number of sedan cars sold by E.

Correct Option - 2

481.
382.
433.
514.
545.

Que. 53 Sedan cars sold by H are 60% of the sedan cars sold by F and total number of cars sold by F is 196
then find the ratio between the number of hatchback cars sold by F to the number of hatchback cars

sold by G.

Correct Option - 4

3: 41.
2: 5 2.
3:23.
2: 1 4.
3: 25.

Que. 54 Find the ratio of total number of hatchback cars sold by G to the average number of sedan cars sold by
all the manufacturers respectively.



Correct Option - 4

7: 51.
5: 42.
5: 73.
4: 114.
3: 75.

Que. 55 If the number of sedan cars sold by the manufacturer H is increased by 2/7 and the number of
hatchback cars sold by the manufacturer H is increased by 4, find the difference between the number of

sedan cars and hatchback cars sold by H.

Correct Option - 4

411.
372.
393.
424.
475.

Que. 56 What approximate value should come in place of x in the following question?

Correct Option - 2

23 % of + ( ÷ )% of = 30% of x + 2.872
3

323.91
− −−−−

√ 11.972 26.949
− −−−−

√
3 1679

− −−−
√

571.
702.
653.
764.
815.

Que. 57 What approximate value should come in place of the question mark (?) in the following question?

Correct Option - 1

( ) =  ?
÷11+120.77√ 64.03√

2.98
14.98
2.94

151.
202.
163.
124.
95.

Que. 58 What approximate value should come in the place of the question mark ‘?’ in the following question?

124.83 × 63.82 ÷ 24.94 + 168.79 × 13.96 ÷ 12.98 + 122.96 = ?2



Correct Option - 3

201.
222.
253.
264.
235.

Que. 59 Find the value of x in the following question given below
(√440.98 /7 × 11.98) - 24.98% of 399.98 + (15.89 × 17.89) - (∛1727.79 × 5.09) - (16.09 × 34.98)/7 = x

Correct Option - 3

1081.
962.
843.
724.
605.

Que. 60 Which of the following approximate value will replace the question mark?
(516.92 + 37.04 + 471.93)/113.98*?= 576.05

Correct Option - 1

64.1251.
88.2202.
125.1253.
50.1254.
None of these5.

Que. 61 Find the missing term in the given series.
2000, 1800, 1700, 1600, ?, 600

Correct Option - 3

14501.
18002.
14003.
12004.
None of these5.

Que. 62 A, B, and C enter into a partnership with their total initial investment of Rs.16200. A invested for 1 
year while B and C invested for same time period, Find the time period for which B and C invested 

their capital.
Statement I: Profit share of B is Rs.2400 out of total annual profit.
Statement II: Ratio of investment of A, B and C is 5: 3: 10 respectively and profit share of person A is 
Rs.2400.



Correct Option - 4

Statement I is alone sufficient 1.
Statement II is alone sufficient2.
Either I or II3.
Both the Statement I and II together sufficient4.
None of these5.

Que. 63 A and B are positive integers. Is (A* B)/10 is an integer?
Statement I: Both A and B are multiple of 5.

Statement II: A * B is a multiple of 20.

Correct Option - 4

Statement I is alone sufficient1.
Statement I and II both are sufficient 2.
Either Statement I or II3.
Statement II is alone sufficient4.
None of these5.

Que. 64 A train of length 'a + 100' crosses a person running with speed 5 km/h in the same direction in 20 
seconds. If speed of train is 50 km/h, then find the time taken by train to cross a platform of length 

150 meter.(approx)

Correct Option - 1

29 seconds1.
32 seconds2.
44 seconds3.
38 seconds4.
None of these5.

Que. 65 Downstream speed of a boat is 24 km/h while it takes a total of 3.75 hours to cover a certain upstream 
and comes back to the same point. If the speed of the stream is 4 km/h, then find the time taken by the 

boat with the speed of the boat in still water to the same distance covered upstream and downstream?

Correct Option - 1

3.6 hours1.
4 hours2.
3 hours3.
5 hours4.
None of these5.

Que. 66 A sum '2P' is invested in scheme A for 4 years at 10% simple rate of interest and amount received 
from scheme A is invested in scheme B for 5 years at 8% simple rate of interest. Difference between 



total amount received from scheme A and scheme B is 201.60, then find the total amount invested in scheme 
B.

Correct Option - 1

5041.
4842.
5523.
4504.
None of these5.

Que. 67 In 20 L milk, a mixture that contain equal quantity of milk and water is mixed such that quantity of 
milk becomes 75% of total quantity. Now, 25% of total quantity of this mixture is taken out and 

replaced by same quantity of water. Find the quantity of water in the final mixture.

Correct Option - 3

15 litres1.
10 litres2.
17.5 litres3.
12.5 litres4.
None of these5.

Que. 68 Ratio of ages of Q and R before 8 years was 5: 6 and average of present ages of P and R is 36 years. 
If age of P after 5 years will be same as the age of Q before 5 years, find the present age of Q.

Correct Option - 2

421.
382.
443.
404.
None of these5.

Que. 69 Two persons A and B enter into partnership with total investment of 'X'. If A left the business after 3 
months and at the same time C joins with 1000 investment. If ratio of profit share of A, B, and C at 

end of a year is 3: 8: 3, then find the difference between initial investment of A and B.

Correct Option - 1

10001.
12002.
22003.
18004.
None of these5.

Que. 70



The average of the height of the 20 employee of the company is 1.5 m.In the month of June, two employees
named Rita and Sumit left the company whose height are 1.4 m and 1.6 m respectively. In August, two more
people left the company whose average of height is 1.7 m and one person join the company whose height is
87.5% of height of Sumit. Before the December, more four people left the company whose height are 1.3 m, 1.1
m, 1.32 m and 1.25 m respectively and more 5 people join the company whose height are 1.26 m, 1.18 m, 1.39 m
and 1.4 m respectively. The average of height in the month of September is ….

Correct Option - 3

1.21.
1.32.
1.473.
1.624.
1.85.

Que. 71 Directions: The below given line graph shows the total number of professors who teach (Literature + 
Commerce) and the number of professors who teach Commerce in five different colleges A, B, C, D 

and E.

All the professors in college D who teaches commerce takes  2 hours of class each and all the professors in
college D who teaches Literature takes m hours of class. If the total class taken by all the professors in college D
is 590 hours. Find the value of m.

Correct Option - 4

41.
62.
83.
34.
55.

Que. 72



What is the sum of the average number of commerce professors teaches in all the colleges and the average
number of literature professors teaches in all the colleges? 

Correct Option - 4

2501.
2402.
2103.
2004.
2205.

Que. 73  Number of professors who teaches literature in college A has increased by 33.3% and the number of
professors who teach commerce in college B has decreased by 20%. Find the ratio between increased

professors in literature in college A and decreased commerce professors in college B.

Correct Option - 3

5: 31.
2: 12.
4: 13.
3: 24.
4: 55.

Que. 74 If 3/7 th of the professors who teach literature in college C are females and the total number of female
professors in college C is 80, find the difference between the number of male professors who teach

literature in college C and the number of male professors who teach commerce in college C.

Correct Option - 2

301.
202.
253.
354.
155.

Que. 75 Number of professors who teach literature in college D has increased by x and the number of
professors who teach commerce in college D has decreased by x. Then the ratio between the number of

professors who teach literature to the number of professors who teach commerce in college D is 7: 5. Find the
value of x.

Correct Option - 2

201.
302.
253.
154.
355.



Que. 76 A sum '2P' is invested in scheme A for 4 years at 10% simple rate of interest and amount received 
from scheme A is invested in scheme B for 5 years at 8% simple rate of interest. Difference between 

total amount received from scheme A and scheme B is ₹201.60, then find the total amount invested in scheme 
B.

Correct Option - 3

1981.
6662.
5043.
7864.
None of these5.

Que. 77 A mixture of the same amount of milk and water is added to 20 liters of milk so that the milk makes up
75% of the total. Currently, 25% of the mixture's total volume is removed and replaced with the equal

amount of water. Find the quantity of water in the final mixture?

Correct Option - 1

17.5 l1.
20.5 l2.
15.75 l3.
20.0 l4.
None of these5.

Que. 78 Two persons A and B enter into partnership with total investment of 'X'. If A left the business after 3 
months and at the same time C joins with 1000 investment. If the ratio of profit share of A, B, and C 

at end of a year is 3: 8: 3, then find the difference between initial investment of A and B.

Correct Option - 1

10001.
60002.
20003.
240004.
None of these5.

Que. 79 Find the correct combination regarding the roots of below given equation.
Equation: 3x² - 25x + 28 = 0

I. 3/4
II. 4/3
III. 7
IV. 6

Only I and IV 1.
Only II and IV2.
Only II and III3.
Only III and IV 4.



Correct Option - 3

None of these5.

Que. 80 Find the product of smaller root of equation I and bigger root of equation II.
I: 9x2 - 31x + 12 = 0

II: 3x² - 8x - 3 = 0

Correct Option - 4

1/31.
32.
2(1/3)3.
1(1/3)4.
None of these5.

Que. 81 Who is the current President of the 77th United Nations General Assembly (UNGA)?

Correct Option - 2

Kristalina Georgieva1.
Csaba Korosi2.
Ajay Banga3.
David Malpass4.
Ngozi Okonjo-Iweala5.

Que. 82 The RBI recently said state-owned SBI, along with private sector lenders ICICI Bank
and ____________ continue to be Domestic Systemically Important Banks (D-SIBs) or institutions

which are 'too big to fail'.

Correct Option - 4

IDBI Bank1.
Federal Bank2.
IDFC First Bank3.
HDFC Bank4.
Axis Bank5.

Que. 83 Who is the current Home Minister of India?

Correct Option - 2

Rajnath Singh1.
Amit Shah2.
S Jaishankar3.
Sushma Swaraj4.
Ashwini Vaishnaw5.



Que. 84 Pradhan Mantri Rashtriya Bal Puraskar 2023 have been conferred upon how many children for their
exceptional achievement in six categories?

Correct Option - 3

61.
92.
113.
154.
None of these5.

Que. 85 In May 2023, Bulgarian writer Georgi Gospodinov and translator Angela Rodel were named as
winners of the International Booker Prize. What is the name of the novel for which they have been

awarded?

Correct Option - 3

Tomb of Sand1.
The Promise2.
Time Shelter3.
Milkman4.
None of these5.

Que. 86 Recently, The government has said that a new portal Sancharsaathi will be launched on World
Telecommunication and Information Society Day. What is the purpose of it?

Correct Option - 2

To improve the efficiency of telecom workers1.
To help people track and find their lost mobile phones.2.
To get redressal of telecommunication problems 3.
To improve telecommunication infrastructure4.
None of these5.

Que. 87 Who is the Head of the Government in India?

Correct Option - 4

Speaker of Lok Sabha1.
Vice President2.
President3.
Prime Minister4.
None of the above5.

Que. 88 Match the following:

Sportsperson Sports



A)
R Praggnanandhaa 1) Badminton

B) Kidambi Srikanth 2) Chess

C) Sumit Nagal 3) Lawn
Tennis

Correct Option - 5

A-1 B-3 C-21.
A-2 B-3 C-12.
A-1 B-2 C-33.
A-3 B-1 C-24.
A-2 B-1 C-35.

Que. 89 Which country was the largest importer of Indian seafood in FY 2022-23?

Correct Option - 3

China1.
European Union2.
USA3.
Japan4.
Brazil5.

Que. 90 How many central banks are members of Bank for International Settlements (BIS)?

Correct Option - 2

571.
632.
653.
544.
695.

Que. 91 Which of the following organisation installed world's first integrated blood collection tube?

Correct Option - 1

CML Biotech Ltd1.
Serum Institute Of India2.
Panacea Biotech Ltd3.
Biocon Ltd4.
None of these5.

Que. 92 With an aim to boost astro-tourism in India,union Minister Dr. Jitendra Singh recently said that the
first-ever "Night Sky Sanctuary" would be set up in Ladakh. This night sky reserve will be a part of



which one of the following protected area?

Correct Option - 5

Hemis national park 1.
Karakoram wildlife sanctuary2.
Nanda Devi National Park3.
Cold desert National Park4.
Changthang Cold desert wildlife sanctuary 5.

Que. 93 Who is the next High Commissioner of India to the United Kingdom as announced in August 2022?

Correct Option - 2

Ruchi Ghanashyam1.
Vikram Doraiswami2.
Gaitri Issar Kumar3.
Yashvardhan Kumar Sinha 4.
Ramesh Chibber5.

Que. 94 What is the primary aim of the Jan Vishwas (Amendment of Provisions) Bill, 2023?

Correct Option - 1

To boost Ease of Living and Ease of Doing Business1.
To increase tax revenue2.
To regulate the banking sector3.
To enhance national security4.
None5.

Que. 95 How many foreign banks have their branches in India?

Correct Option - 3

121.
302.
453.
504.
625.

Que. 96 Who has been appointed as the new Executive Director of the Reserve Bank of India (RBI)?

K.C. Venugopal1.
P Vasudevan2.
Rajesh Pillai3.
Jatashankar Tiwari4.



Correct Option - 2

Mrunal Mahajan5.

Que. 97 Who is the newly appointed Governor of Arunachal Pradesh?

Correct Option - 4

Lakshman Prasad Acharya1.
C P Radhakrishnan2.
Shiv Pratap Shukla3.
Lt Gen KT Parnaik4.
None of the above5.

Que. 98 Deepak Parekh step down as chairman of HDFC recently, Who is the MD and CEO of HDFC Bank?

Correct Option - 2

Aditya Puri1.
Sashidhar Jagdishan2.
Rakesh Sharma3.
Aditya Kapoor4.
Rakesh Asthana5.

Que. 99 International Film Festival of India (IFFI) Awards is organized by which of the following?

Correct Option - 1

National Film Development Corporation of India Ltd (NFDC)1.
Times Group2.
National School of Drama (NSD)3.
Film And Television Institute Of India (FTII)4.
None of the Above5.

Que. 100 Which is the most liveable city in the world revealed in Global Liveability Index 2023?

Correct Option - 1

Vienna1.
Copenhagen2.
Melbourne3.
Sydney4.
None of the above5.

Que. 101 Which of the following will be the 12th company to get the status of the 'Maharatna' company?

Container Corporation of India Limited1.



Correct Option - 4

Power Finance Corporation Limited2.
Hindustan Aeronautics Limited3.
Rural Electrification Corporation Limited4.
None of the above5.

Que. 102 Which of the following is a feature of NBFC?

Correct Option - 3

NBFC can accept Demand Deposit1.
NBFC can issue Cheques2.
NBFC can provide loan facility to its customer3.
NBFC can issue Demand Drafts4.
None of the above5.

Que. 103 What is the name of the highest civilian award given by Suriname to President Droupadi Murmu?

Correct Option - 2

Order of the Palm1.
Order of the Chain of Yellow Star2.
Order of the Surinamese Lion3.
Order of the Golden Arrow4.
None of these5.

Que. 104 The Union Cabinet approved the National Quantum Mission (NQM) at a total cost of Rs.6003.65
crore from 2023-24 to ________, aiming to seed, nurture and scale up scientific and industrial R&D

and create a vibrant & innovative ecosystem in Quantum Technology (QT).

Correct Option - 4

2028-20291.
2025-262.
2035-363.
2030-314.
2036-385.

Que. 105 Air India signed an agreement with which of the following to provide access to bus & train
connections in European cities?

SNCF 1.
AccesRail2.
Eurostar3.
Deutch Bahn4.



Correct Option - 2

FlixTrain5.

Que. 106 Which of the following missions are related to exploring the various facets of the Moon?
1. Artemis-I               

2. Chang'e 4 project
3. VIPER Mission
4. Hope Mission
5. Mission Chandrayaan
Choose the correct answer using the codes given below:

Correct Option - 3

1, 2, and 5 only1.
2, 4 and 5 only2.
1, 2, 3, and 5 only3.
1, 4 and 5 only4.
1, 2, 3, 4, and 55.

Que. 107 What is the name of India's Autonomous Underwater Vehicle for mine detection, launched in August
2023?

Correct Option - 1

Neerakshi1.
Varunastra2.
Sagarika3.
Trishul4.
None of these5.

Que. 108 Match the following;
National Park Animal

Kanha Rhinoceros
Kaziranga Tiger

Gir Lion

Correct Option - 2

1-c, 2-b, 3-a1.
1-b, 2-a, 3-c2.
1-b, 2-c, 3-a3.
1-a, 2-b, 3-c4.
1-a, 2-c, 3-b5.



Que. 109 Which of the following Public Authorities come under the Ministry of Civil Aviation?

Correct Option - 5

Airports Authority of India1.
Bureau of Civil Aviation Security2.
Indira Gandhi Rashtriya Uran Akademi3.
Commissioner of Railway Security4.
All of the Above5.

Que. 110 The Sports Authority of India (SAI) recently integrated Khelo India Games Certificates with
DigiLocker. DigiLocker was launched in which of the following years?

Correct Option - 2

20121.
20152.
20173.
20104.
20225.

Que. 111 Which of the following organization is sole re-insurer of India?

Correct Option - 2

Sompo International Holdings, Ltd.1.
General Insurance Company2.
Central Reinsurance Corporation3.
Allied World Assurance Company Holdings4.
Munich Reinsurance Company5.

Que. 112 SVEEP is an initiative for:

Correct Option - 1

spreading voter awareness and promoting voter literacy in India1.
calculating criminal record of politicians2.
calculating voter turnout in panchayat elections3.
pension plan4.
None5.

Que. 113 India's Praveen Kumar won a bronze in the men's high jump T64 event and have Qualified for 2024
Paris Paralympics, He belongs to which state?

Bihar1.
Rajasthan2.
Uttar Pradesh3.



Correct Option - 3

Maharashtra4.
Karnatka5.

Que. 114 Who won the FIFA Women’s World Cup 2023 Final?

Correct Option - 1

Spain1.
England2.
Morocco3.
Brazil4.
Bahrin5.

Que. 115 Which of the following countries is not a member of the African Union?

Correct Option - 4

Chad1.
Kenya2.
Egypt3.
Jordan4.
Lesotho 5.

Que. 116 The "Miyawaki method" is well known for the :

Correct Option - 3

Promotion of commercial farming in arid and semi-arid areas1.
Development of gardens using genetically modified flora2.
Creation of mini forests in urban areas3.
Harvesting wind energy on coastal areas and on sea surfaces4.
None of the above5.

Que. 117 'Zudio' is a brand associated with which of the following companies?

Correct Option - 2

Reliance Group1.
Tata Group2.
Aditya Birla Group3.
Biba Fashion4.
Raymond5.

Que. 118 Which of the following are the Pillars of Cooperation under BRICS?



Correct Option - 5

Political and Security Cooperation1.
Financial and Economic Cooperation2.
Cultural and People-to-People Cooperation3.
Both 1 and 24.
All of the Above5.

Que. 119 Which of the following countries is NOT a full member of G20?

Correct Option - 4

Turkey1.
Indonesia2.
Mexico3.
United Arab Emirates4.
None of these5.

Que. 120 Which of the following movies won the Best Picture award at the 2023 Oscars? 

Correct Option - 2

All Quiet on the Western Front1.
Everything Everywhere All at Once2.
Top Gun: Maverick3.
Avatar: The Way of Water4.
The Fablemans5.

Que. 121 Read the given passage carefully and answer the following question.
In 1984, researchers spotted dolphins doing something broken in Shark Bay, Western Australia. When

the animals got hungry, they ripped a marine basket sponge from the sea floor and fitted it over their beaks like a
person would fit a glove in a hand. The scientists suspected that as the dolphins foraged for fish, the sponges
protected their beaks, or rostra, from the rocks and acoustic chunks of coral that litter the sea floor, making this
behaviour the first example of tool use in this species.
The researchers surmised that a long time ago one ingenious Shark Bay dolphin figured out that by prodding the
sediments with a sponge attached to her beak, she could stir up these swim bladder-less fish without being hurt.
Eventually, such a technique became apparent among other dolphins. But why do dolphins go through all of this
trouble when they could simply snag a fish from the open sea? The answer is that the bottom-dwelling fish are a
lot more nutritious. Some species also don't have swim bladders or gas chambers that help other fish control their
buoyancy as they travel up and down the water column. In the Bahamas, where dolphins are also known to
forage for bottom-dwelling fish, dolphins hunt partly by echolocating these bladders, which give off a strong
popular signal. That helps the cetaceans find prey even when it's buried in sea sand. But bottom-dwelling fish,
such as Barred Sandperch, which are favoured by some Shark Bay dolphins, don't have swim bladders and so are
harder to find with echolocation. The sea floor is not nearly as soft here as it is in the Bahamas, so if dolphins
want to probe for these fish, they risk injuring their rostra.
Not every dolphin in Shark Bay hunts with sponges. "It's primarily done by females," says Janet Mann, a
behavioural ecologist. She believes the female dolphins invented the method because of the "selective pressures
they face while raising a calf as long as they do," about 4 to 5 years. "These clever dolphins have figured out a



way to target fish that other dolphins cannot," she says, adding that even the local fishermen do not catch, or even
know about, this particular species. Mann's previous research has shown that dolphin mothers pass the sponging
method to their daughters and some of their sons, rare evidence of a cultural tradition in an animal other than
humans. The team has documented three generations of sponging dolphins.
The foraging technique came to light a few decades ago - very recently in evolutionary terms - when a local
fisherman spotted what looked like a strange tumour on a dolphin’s nose. Researchers eventually worked out that
the ‘tumour’ was a conically shaped sponge and it became unusual that the dolphins would spend considerable
time searching for one the right shape to fit their nose. The sponge is used to scatter the sand gently on the sea
floor and disturb buried fish. When a fish is spotted, the dolphin drops the sponge and gives chase. "It has been
thought that behaviours which are exclusively learnt from one parent are not very stable. With our model we
could now show that sponging can be a stable behaviour," said Dr Anna Kopps, a biologist at the University of
New South Wales.

Choose the synonym of the word 'ingenious.'

Correct Option - 2

ingenuous1.
resourceful2.
defiant3.
inherent4.
tenacious5.

Que. 122 Which of the following is NOT true, according to the given passage?

Correct Option - 4

When the Shark Bay dolphins forage for fish at the bottom of the sea, the sponges that they picked up
protect their beaks

1.

Evidence of a cultural tradition passing along to the next generation is rare in an animal other than
humans

2.

The dolphin mothers pass the knowledge of sponging method to their daughters and some of their sons3.
It is predominantly female sharks that use the sponging method to catch bottom-dwelling fishes4.
They acquire the marine basket sponge by ripping it from the sea floor5.

Que. 123 What does biologist Dr. Anna say?

Correct Option - 4

sponging is very dangerous for dolphins.1.
dolphins do not inherit sponging method from their parents.2.
she has benn studying dolphins for a few decades now.3.
sponging can be a stable behaviour.4.
sponging is primarily done by the females.5.

Que. 124 Why do the Shark Bay Dolphins primarily scavenge for bottom-dwelling fishes instead of
catching fishes from the open water?

They find these fishes more tasty.1.



Correct Option - 5

The bottom-dwelling fishes give signal through echolocation.2.
The open water fishes injure the rostra of the dolphins3.
Open water fishes are hard to locate through echolocation.4.
The bottom-dwelling fish are a lot more nutritious than the open water fishes.5.

Que. 125 Choose the antonym of the word 'particular.'

Correct Option - 4

specific1.
distinct2.
precise3.
typical4.
idiosyncratic5.

Que. 126 What improvement is needed in the highlighted phrase "glove in a hand"?

Correct Option - 1

glove over a hand.1.
glove at a hand.2.
glove for hand.3.
glove to a hand.4.
No Improvement5.

Que. 127 Why do Shark Bay dolphins prefer to target bottom-dwelling fish despite the inherent risks and
added difficulty?

Correct Option - 3

These fish are easier to catch with echolocation compared to other fish. 1.
Bottom-dwelling fish are more abundant on the sea floor. 2.
These fish offer a significant nutritional advantage over open sea fish.3.
The dolphins have a cultural preference for the taste of these fish. 4.
Hunting with sponges for these fish is a rite of passage for young dolphins.5.

Que. 128 Which of the following sentences is true as per the passage?
1. Dolphins in Shark Bay show cultural adaptation by using sponges as foraging tools, a behavior

passed down generations.
2. Dolphins communicate complexly and symbolize social standing through the use of sponges in Shark Bay.
3. Dolphins' preference for sponges is due to the enhanced taste of sponge-filtered water on their prey.

Only 1 1.
Only 2 2.
Only 3 3.



Correct Option - 1

Both 1 and 2 4.
Only 1 and 35.

Que. 129 What is a suitable title for the passage?

Correct Option - 1

Sponging Dolphins and inheritance of learned behaviour1.
Interesting dolphins of the Shark Bay2.
Ingenuity of female dolphins3.
Sponging: a new technique of fish foraging of the dolphins4.
Echolocation vs Sponging: a comparative analysis of food foraging by the dolphins5.

Que. 130 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

 A. on the surface of the earth
B. radiation of the sun
C. gases in the atmosphere
D. trap the infrared
E. which generates heat

Correct Option - 2

EBDCA1.
CDBEA2.
DBCEA3.
ABDEC4.
BEDAC5.

Que. 131 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.   

A. for numerous people
B. and also means of livelihood
C. various types of forests
D. are home to a
E. thousand animals

ABECD1.
CDEBA2.
EDBCA3.
DEABC4.
BDEAC5.



Correct Option - 2

Que. 132 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. than those who do not.
B. can control and handle
C. in a sophisticated way
D. a disciplined person
E. the situation of living

Correct Option - 3

ABCED1.
EBDCA2.
DBECA3.
BCDEA4.
CDBEA5.

Que. 133 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.  

A. life essentials; food and oxygen
B. valuable and necessary
C. trees are very important,
D. have furnished us with two important
E. to our existence as they

Correct Option - 1

CBEDA1.
EDBCA2.
ABCDE3.
DEBCA4.
BDECA5.

Que. 134 The question below contains five scattered segments of a sentence. Indicate the sequence which
correctly assembles the segments and completes the sentence.

A. electricity through natural means.
B. use megawatts of electricity
C. this can help in getting cheap
D. the industries which
E. must install windmills.

CBDEA1.
EBDCA2.



Correct Option - 3

DBECA3.
ABEDC4.
BCEDA5.

Que. 135 In the given question, a sentence is given with a part of it missing and represented by a blank.
Choose the phrase that can be placed in the given blank to make a meaningful and

grammatically correct sentence.
India has had an inspiring journey towards better production and achieving self-sufficiency and is now one of
______________ exporters.

Correct Option - 2

a larger agricultural product1.
the largest agricultural product2.
an larger agricultural product3.
the large agricultural product4.
None of the above5.

Que. 136 In the given question, a sentence is given with a part of it missing and represented by a blank.
Choose the phrase that can be placed in the given blank to make a meaningful and

grammatically correct sentence.
A Constitution Bench of the Supreme Court has unanimously held that a judgment delivered by a larger Bench
will _____________ of a smaller Bench.

Correct Option - 4

prevail since the decision1.
withheld over the decision2.
withheld in the decision3.
prevail over the decision4.
None of the above5.

Que. 137 In the given question, a sentence is given with a part of it missing and represented by a blank.
Choose the phrase that can be placed in the given blank to make a meaningful and

grammatically correct sentence.
Hackers can also break into online websites and mobile apps that ___________ details.

Correct Option - 3

dismantle your credit card1.
dislocate your credit card2.
store your credit card3.
store their credit card4.
None of the above5.



Que. 138 In the given question, a sentence is given with a part of it missing and represented by a blank.
Choose the phrase that can be placed in the given blank to make a meaningful and

grammatically correct sentence.
The SJM asserted that India had _____________ and methodology used in evaluation of the country.

Correct Option - 1

questioned the data1.
questions the data2.
been questioned the data3.
have question the data4.
None of these5.

Que. 139 Directions: The given sentence is divided into four parts that are A, B, C, and D. Choose the
part that contains an error as your answer. If the sentence is error-free, mark E i.e. No error as

your answer.
Twitter’s ability to maintain its (A) previous level of brand safety (B) measures and effectiveness seems (C)
impeded in the immediately term. (D) No error (E)

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 140 Directions: The given sentence is divided into four parts that are A, B, C, and D. Choose the
part that contains an error as your answer. If the sentence is error-free, mark E i.e. No error as

your answer.
Advanced economies are (A) expected to bear the brunt as (B) it aggressively pursued (C) monetary tightening in
2022. (D) No error (E)

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 141 Directions: The given sentence is divided into four parts that are A, B, C, and D. Choose the
part that contains an error as your answer. If the sentence is error-free, mark E i.e. No error as

your answer.
Microsoft had been trying to retiring its (A) Internet Explorer browser for nearly 8 years (B) now, labelling it a
compatibility solution for (C) businesses rather than a browser for daily use. (D) No error (E)



Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 142 Directions: The given sentence is divided into four parts that are A, B, C, and D. Choose the
part that contains an error as your answer. If the sentence is error-free, mark E i.e. No error as

your answer.
When we get protein through food, (A) the body metabolises it naturally, (B) in a way it is meant to, (C) unlike
when its an isolated nutrient. (D) No error (E)

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 143 Directions: The given sentence is divided into four parts that are A, B, C, and D. Choose the
part that contains an error as your answer. If the sentence is error-free, mark E i.e. No error as

your answer.
For the first time, researchers from (A) the Norwegian Institute for Marine Research has (B) studied the
concentration of nutrients in whale (C) excrement before it is dissolved in seawater.(D) No error (E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 144 Direction: Match Column I with Column II (Antonyms)

Column I  Column II

A. Hinder  I. Accidental

B. Hunger II. Tiny

C. Immense​ III. Distaste

D. Intentional IV. Aid



Choose the most appropriate answer from the options given below:

Correct Option - 2

A-II, B-III, C-IV, D-I1.
A-IV, B-III, C-II, D-I2.
A-IV, B-II, C-I, D-III3.
A-IV, B-I, C-II, D-III4.
None of these5.

Que. 145 Direction: Match Column I with Column II (Antonyms)

Column I  Column II

A. Misunderstand I. Slow

B. Possible II. Comprehend

C. Prudent III. Unlikely

D. Rapid IV. Foolish

Choose the most appropriate answer from the options given below:

Correct Option - 2

A-III, B-II, C-I, D-IV1.
A-II, B-III, C-IV, D-I2.
A-III, B-II, C-IV, D-I3.
A-I, B-III, C-IV, D-II4.
A-I, B-II, C-IV, D-III5.

Que. 146 Direction: Match Column I with Column II (Synonyms)

Column I  Column II

A. Calm I. Certain

B. Dangerous II. Unruffled

C. Decide III. Perilous

D. Definite IV. Settle

Choose the most appropriate answer from the options given below:

A-II, B-III, C-IV, D-I1.
A-I, B-III, C-IV, D-II2.
A-I, B-III, C-II, D-IV3.
A-III, B-II, C-IV, D-I4.
None of the Above5.



Correct Option - 1

Que. 147 Direction: Match Column I with Column II (Synonyms)

Column I  Column II

A. Eager I. Quick

B. Explain II. Impartial

C. Fair III. Elaborate

D. Fast IV. Keen

Choose the most appropriate answer from the options given below:

Correct Option - 3

A-III, B-IV, C-I, D-II1.
A-IV, B-II, C-I, D-III2.
A-IV, B-III, C-II, D-I3.
A-II, B-III, C-I, D-IV4.
A-II, B-I, C-III, D-IV5.

Que. 148 Each of the following sentences has a blank space and five words are given below. Click on the
word which you consider the most APPROPRIATE to fit the blank.

Morial also pointed out the necessity for our community to be able to build ______ businesses that can grow.

Correct Option - 1

scalable1.
incorporate2.
obsessive3.
deployed4.
composed5.

Que. 149 Each of the following sentences has a blank space and five words are given below. Click on the
word which you consider the most APPROPRIATE to fit the blank.

The police have accused him of _____ with three others to sell illegal products.

Correct Option - 1

conspiring1.
suspecting2.
demanding3.
honouring4.
paving5.



Que. 150 Each of the following sentences has a blank space and five words are given below. Click on the
word which you consider the most APPROPRIATE to fit the blank.

He was an ______ photographer until the age of 30 when he turned professional.

Correct Option - 3

obliged1.
perpetual2.
amateur3.
ceasing4.
eternal5.

Que. 151 Rearrange the following five sentences/group of sentences (A), (B), (C), (D) and (E) in the
proper sequence to form a meaningful paragraph; then answer the questions given below them.

(A)The wish of her was to do a challenging study on biotechnology, 'cause she loves adventures of fairy tales
from her early childhood.
(B) She flew like a free bird in a beautiful school in Dubai.
(C) She had a friend named Lakhmi, she loves her more than any other.
(D) Aarthi, a teenage girl loves learning more apart from her syllabus.
(E) One evening, all of a sudden her dad got cardiac arrest and They are forced to move to their home country,
India.

Which of the following should be the FIFTH sentence after rearrangement?

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 152 Which of the following should be the FOURTH sentence after rearrangement?

Correct Option - 4

C1.
B2.
E3.
A4.
None of the above5.

Que. 153 Which of the following should be the THIRD sentence after rearrangement?

E1.
C2.



Correct Option - 1

A3.
B4.
D5.

Que. 154 Which of the following should be the SECOND sentence after rearrangement?

Correct Option - 1

B1.
D2.
A3.
E4.
None of the above5.

Que. 155 Which of the following should be the FIRST sentence after rearrangement?

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 156 Directions: In the following sentence, four words given in bold are marked as A, B, C, and D,
which are possible pairs to be interchanged. Choose the pair(s) of words that need to be

interchanged to make the sentence grammatically correct and meaningful. If no interchange is required,
mark option 5 i.e., "No interchange required" as your answer.
Amending exploited (A) funds regulations is integrity (B) to address loopholes alternative (C) by NBFCs,
restoring imperative (D) and transparency in financial markets.

Correct Option - 3

D-C and B-A1.
A-C2.
C-A and B-D3.
B-D4.
No interchange required5.

Que. 157 Directions: In the following sentence, four words given in bold are marked as A, B, C, and D,
which are possible pairs to be interchanged. Choose the pair(s) of words that need to be

interchanged to make the sentence grammatically correct and meaningful. If no interchange is required,
mark option 5 i.e., "No interchange required" as your answer.
Our political (A) advancement contrasts with adverse (B) human tendencies to imagine intentions behind
persistent (C) events, influencing technological (D) responses to crises.



Correct Option - 4

A-C and D-B1.
C-D and B-A2.
C-D3.
D-A and C-B4.
No interchange required5.

Que. 158 Directions: In the following sentence, four words given in bold are marked as A, B, C, and D,
which are possible pairs to be interchanged. Choose the pair(s) of words that need to be

interchanged to make the sentence grammatically correct and meaningful. If no interchange is required,
mark option 5 i.e., "No interchange required" as your answer.
Bitcoin emerged from early internet communities with mainstream (A) ideals, promising an alternative (B) to
libertarian (C) finance amid the dot-com boom's collapse (D).

Correct Option - 2

D-A1.
A-C2.
B-D3.
C-D4.
No interchange required5.

Que. 159 Directions: In the following sentence, four words given in bold are marked as A, B, C, and D,
which are possible pairs to be interchanged. Choose the pair(s) of words that need to be

interchanged to make the sentence grammatically correct and meaningful. If no interchange is required,
mark option 5 i.e., "No interchange required" as your answer.
European governments face the discontent (A) task of balancing agricultural livelihoods with climate change
escalating (B) efforts amidst mitigation (C)  protests and daunting (D) among farmers across the continent.

Correct Option - 3

C-D1.
A-C2.
C-B and A-D3.
A-C and B-D4.
No interchange required5.

Que. 160 Directions: In the following sentence, four words given in bold are marked as A, B, C, and D,
which are possible pairs to be interchanged. Choose the pair(s) of words that need to be

interchanged to make the sentence grammatically correct and meaningful. If no interchange is required,
mark option 5 i.e., "No interchange required" as your answer.
The imposition (A) of written grammar on spoken language impedes (B) speaking disconnect (C), highlighting
the competence (D) between formal rules and spoken communication.

C-D1.



Correct Option - 1

A-C2.
B-D3.
D-C and B-A4.
No interchange required5.

Que. 161 Which of the following is a non-volatile memory?

Correct Option - 3

RAM1.
DRAM2.
Secondary Memory3.
SRAM4.
None of the above5.

Que. 162 Which of the following is a valid Email Address

Correct Option - 4

www.learn.com1.
abc.com2.
india.org3.
aa@bb.com4.
None of the above5.

Que. 163 Which of the following is correct with respect to the size of the storage units?

Correct Option - 1

Terabyte < Petabyte < Exabyte < Zettabyte1.
 Petabyte < Exabyte < Zettabyte < Terabyte2.
Exabyte < Zettabyte < Terabyte < Petabyte3.
Zettabyte < Exabyte < Petabyte < Terabyte4.
None of these5.

Que. 164 The input device scanner resembles to ____________.

Correct Option - 2

Typing machine1.
Photocopy machine2.
Projector 3.
DVD4.
Monitor 5.



Que. 165 The area of microprocessor are used to temporarily store instructions and data?

Correct Option - 4

Register1.
ALU2.
Accumulator3.
Cache memory4.
Interrupt control5.

Que. 166 Which is NOT an input device?

Correct Option - 5

Touchscreen1.
Keyboard2.
Mouse3.
camera4.
Plotter5.

Que. 167 Which of the following keyboard shortcuts is used to create a blank presentation in MS PowerPoint
2007?

Correct Option - 3

Ctrl + M1.
Alt + M2.
Ctrl + N3.
Ctrl + Alt + N4.
Ctrl + V5.

Que. 168 By default, MS-PowerPoint 365 presentations are saved with which of the following extensions?

Correct Option - 3

.xps1.

.pptm2.

.pptx3.

.ppt4.

.ptx5.

Que. 169 When a word file is saved, the default file extension for it is ____.

WRD1.
TXT2.
DOC3.



Correct Option - 3

FIL4.
None of these5.

Que. 170 Which is not used in laser printers?

Correct Option - 1

Liquid Ink1.
Semiconductor diode laser2.
light source3.
Toner cartridges4.
Powder-based ink5.

Que. 171 What is a blockchain?

Correct Option - 2

A blockchain is a centralized digital ledger consisting of records called blocks.1.
A blockchain is a decentralized, distributed, digital ledger consisting of records called blocks.2.
A blockchain is a digital database consisting of records called class.3.
It is a private ledger that no one can inspect.4.
None of the above5.

Que. 172 Commercial Internet service providers (ISPs) emerged in which year?

Correct Option - 5

19601.
19702.
20003.
18004.
19895.

Que. 173 Register is a

Correct Option - 3

Set of capacitors used to register input instructions in a digital computer1.
Set of paper tapes and cards put in a file2.
Temporary storage unit within the CPU having dedicated or general purpose use3.
Part of the auxiliary memory4.
All of the above5.

Que. 174 DRAM stands for



Correct Option - 4

Dynamic Read Access Memory1.
Dynamic Random Accumulator Memory2.
Dual Random Access Memory3.
Dynamic Random Access Memory4.
Dynamic Readable Access Memory5.

Que. 175 What is DBMS?

Correct Option - 1

Database Management System1.
Database Marketing System2.
Data Bank Management Software3.
None of these4.
All of the above5.

Que. 176 In Gmail, if you delete an email, it will be moved to the ________ folder.

Correct Option - 2

Inbox1.
Trash2.
Outbox3.
Spam4.
None of the above5.

Que. 177 Which of the following is the keyboard shortcut to save the contents of the currently open Word
document in MS Word 2007?

Correct Option - 4

Alt + S1.
Shift + S2.
Ctrl + Alt + S3.
Ctrl + S4.
None of the above5.

Que. 178 _________ is an example of a math function in MS Excel.

IF1.
AND2.
COUNT3.
SQRT4.
ELSE5.



Correct Option - 4

Que. 179 What is the Data Capacity of a standard size CD ROM?

Correct Option - 1

650 - 700 MB1.
185 - 210 MB2.
550 - 600 MB3.
500 - 650 MB4.
900 - 1024 MB5.

Que. 180 Which of the following is NOT a word processing software?

Correct Option - 1

MS-Excel 1.
MS-Word 2.
WordPad 3.
Notepad 4.
None of the above5.

Que. 181 The first mechanical computer designed by Charles Babbage was called?

Correct Option - 2

Abacus1.
Analytical Engine2.
Calculator3.
Central processing unit (CPU)4.
Pascaline 5.

Que. 182 What does WAN stand for?

Correct Option - 2

Wired Area network1.
Wide area network2.
Wide array network3.
Wireless area network4.
Wanted area network5.

Que. 183 Which one of the following shortcut keys is used to underline the selected text?

Ctrl + Shift + U1.
Ctrl + Shift + D2.



Correct Option - 3

Ctrl + U3.
Ctrl + D4.
Ctrl + M5.

Que. 184 Which is not a UPI Apps?

Correct Option - 5

BHIM1.
Paytm2.
PhonePe3.
BharatPe4.
Flipkart5.

Que. 185 The function of Task manager is

Correct Option - 5

End Non responsive program1.
Monitor CPU and RAM usage2.
Monitor individual program activity3.
option 1 an 2 only4.
Options 1, 2 and 35.

Que. 186 ​Which of the following is a primary memory?

Correct Option - 4

​Floppy disk1.
Hard disk2.
DVDs 3.
Random Access Memory4.
CD5.

Que. 187 _______ is not a Web Browser.

Correct Option - 4

Netscape1.
Internet Explorer2.
Opera3.
Microsoft Outlook4.
Chrome5.



Que. 188 What is artificial intelligence?

Correct Option - 3

Putting your intelligence into computer1.
Programming with your own intelligence2.
Making a machine intelligent3.
Putting more memory into computer4.
None of the above/More than one of the above5.

Que. 189 Which of the following is not an example of a nonvolatile memory?

Correct Option - 3

EEPROM1.
Flash memory2.
SDRAM3.
Hard disk4.
None of the above5.

Que. 190 In MS Word, Vertical mode is a:

Correct Option - 5

Page orientation1.
Page text style2.
Page number3.
Page print4.
Portrait5.

Que. 191 Linux is a ______.

Correct Option - 4

Word Processors1.
Language Processor2.
Adware3.
System Software4.
None of the above5.

Que. 192 Ctrl + Spacebar in MS Word will ______.

Move to the beginning of the line or paragraph1.
Delete word to right of cursor2.
Change text to heading3.
Switch to another open Microsoft Word document4.



Correct Option - 5

Reset highlighted text to the default font5.

Que. 193 Which of the Valid Online Version of MS Office is

Correct Option - 3

Office 3001.
Office XP2.
Office 3653.
Office 20004.
Office 30305.

Que. 194 In most word processors, which of the following keyboard shortcuts is used to bold the text?

Correct Option - 1

Ctrl + B1.
Ctrl + A2.
Ctrl + P3.
Ctrl + I4.
Ctrl + Z5.

Que. 195 Which of the following is not an operating system?

Correct Option - 2

DOS1.
Oracle2.
Linux3.
Windows4.
Android5.

Que. 196 In Microsoft Word, what is "Times New Roman"?

Correct Option - 1

font name1.
bullet type2.
font style3.
alignment option4.
Font Design5.

Que. 197 Fastest memory in computer is

RAM1.



Correct Option - 2

Cache2.
ROM3.
Hard disk4.
CD-ROM5.

Que. 198 What are the not a Microsoft Word Tools?

Correct Option - 5

SmartArt1.
WordArt2.
Drop Cap3.
Hyperlink4.
Firefox5.

Que. 199 In a table in MS word, there should be at least ___ rows & ___ columns?

Correct Option - 4

Zero1.
2 rows and 1 column2.
2 rows and 2 column3.
1 rows and a column4.
None of these5.

Que. 200 A modem

Correct Option - 2

Translates analog signals from a computer into digital signals that can travel along conventional
telephone lines.

1.

Translates digitals signals from a computer into analog signals that can travel along conventional
telephone lines.

2.

Demodulates digital signals from a computer.3.
Modulates signals from an analog telephone life.4.
None of these5.
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